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int a
int b
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OO0O0D0O0O0o0 (intd)

1234;
6666;
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name a
attrib int
reference
value 1234
name b
attrib int
reference
value 6666
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6666

5/7



[B2]0000000

ooooooo @ono)

typedef struct {
char name[4];
int price;
double weight;
} item_t;

item_t a;

strncpy (a.name,
"APP", 4),.

a.price = 120;

a.weight = 205.8;

name
attrib
reference

value

name
attrib
reference

value
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item_t
41 50 50 00
78 00 00 00
a.price 9a 99 90 99
int 99 b9 69 40

"APP\0’
120
205.8
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name X
attrib int[]
reference R —
value 00 00 00 00
Oa 00 00 00
name x[2] 14 00 00 00
attrib int le 00 00 00
reference 28 00 00 00
value

40

obooooOoboon II

7/ 7



	[B2] Ê¬³ä¥³¥ó¥Ñ¥¤¥ë

